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[Question ID = 201][Question Description = Q01_Chinese_UGCNETZ21_20NOV_51-Shift1]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = Q02_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806)

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = Q03_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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' [Question ID = 204][Question Description = Q04_Chinese_UGCNET21_20NOV_51-5hift1]
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1.1 [Option ID = 313] Your Personal Exams Guide
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = Q05_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 817]
2 [Option ID = 818]
3 [Option ID = 819]
4 [Option ID = 820]
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[Question ID = 206][Question Description = Q06_Chinese_UGCNET21_20NOV_51-Shift1]
1 [Option ID = 821]
2 [Option ID = 822]
3 [Option ID = 823]
4 [Option ID = 824]
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[Question ID = 207][Question Description = Q07_Chinese_UGCNET21_20N0OV_S1-Shift1]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = Q08_Chinese_UGCNET21_20NOV_51-Shift1]
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2 [Option ID = 830]
3 [Option ID = 831]
4 [Option ID = 832]
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[Question ID = 209][Question Description = Q09_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = Q10_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]
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[Question ID = 211][Question Description = Q11_Chinese_UGCNETZ21_20NOV_51-Shift1]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]
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[Question ID = 212][Question Description = Q12_Chinese_UGCNET21_20NOV_S1-5hift1]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846)
| 3. 3 [Option ID = 847]
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[Question ID = 213][Question Description = Q13_Chinese_UGCNETZ1_20NOV_51-Shift1]
1. 1 [Option ID = 84%]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]
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[Question ID = 214][Question Description = Q14_Chinese_UGCNETZ1_20N0OV_51-Shift1]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4, 4 [Option ID = 856]
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[Question ID = 215][Question Description = Q15_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4, 4 [Option ID = 860]
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[Question ID = 216][Question Description = Q16_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]
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[Question ID = 217][Question Description = Q17_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 865]
2. 2 [Option ID = 866]
3. 3 [Option ID = 867]
4. 4 [Option ID = 868]

18)

T B CGRY %, ARMER. Tk, SLENEMRIEMEESHENE L.
@ (D
@  (HE)
@  (LED
@ ()

[Question ID = 218][Question Description = Q18_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 869]
2. 2 [Option ID = 870]
3. 3 [Option ID = 871]
4. 4 [Option ID = 872]
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[Question ID = 219][Question Description = Q19_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]
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[Question ID = 220][Question Description = Q20_Chinese_UGCNET21_20NOV_S1-Shift1]
1, 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option 1D = 880]
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[Question ID = 221][Question Description = Q21_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 881]
2. 2 [Option ID = 882]
3. 3 [Option ID = 883]
4, 4 [Option ID = 884]
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[Question ID = 222][Question Description = 022_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4, 4 [Option ID = 888]
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[Question ID = 223][Question Description = Q23_Chinese_UGCNETZ1_20NOV_51-Shift1]
1. 1 [Option ID = 889]
2. 2 [Option ID = 830]
3. 3 [Option ID = 891]
4, 4 [Option ID = 892]
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[Question ID = 224][Question Description = Q24_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]
3. 3 [Option ID = 895]
4, 4 [Option ID = 896]
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[Question ID = 225][Question Description = Q25_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]

[Question ID = 226][Question Description = Q26_Chinese_UGCNETZ21_20NOV_S1-Shift1]
1. 1 [Option ID = 301]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = $04]
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[Question ID = 227][Question Description = Q27_Chinese_UGCNETZ21_20NOV_51-Shift1]
1. 1 [Option ID = 305]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = $08]
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[Question ID = 228][Question Description = Q28_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4, 4 [Option ID = 912]
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[Question ID = 229][Question Description = 29_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4, 4 [Option ID = 916]

30)
SEEENT FREIAE:
O PR
@ AP EH
® RLEE
@ AR E S
[Question ID = 230][Question Description = Q30_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]

3. 3 [Option ID = 919]
4. 4 [Option ID = 920]
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[Question ID = 231][Question Description = Q31_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4, 4 [Option ID = 924]
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[Question ID = 232][Question Description = Q32_Chinese_UGCNET21_20N0V_S1-Shift1]
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. 1 [Option ID = 925]
2 [Option ID = 926]
. 3 [Option ID = 927]
. 4 [Option ID = 928]
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[Question ID = 233][Question Description = Q33_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 929]
2. 2 [Option ID = 930]
3. 3 [Option ID = 931]
4, 4 [Option ID = 932]
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[Question ID = 234][Question Description = Q34_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 933]
2. 2 [Option ID = 934]
3. 3 [Option ID = 935]
4, 4 [Option ID = 936]
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[Question ID = 235][Question Description = Q35_Chinese_UGCNETZ21_20N0OV_51-Shift1]
1. 1 [Option ID = 937]
2. 2 [Option ID = 938]
3. 3 [Option ID = 939]
4. 4 [Option 1D = 940]
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[Question ID = 236][Question Description = Q36_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 941]
2. 2 [Option ID = 942]
3. 3 [Option ID = 943]
4. 4 [Option ID = 944]
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[Question ID = 237][Question Description = Q37_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 945]
2. 2 [Option ID = 946]
3. 3 [Option ID = 947]
4, 4 [Option ID = 948]
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[Question ID = 238][Question Description = Q38_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 949]
2. 2 [Option ID = 950]
3. 3 [Option ID = 951]
4, 4 [Option ID = 952]
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[Question ID = 239][Question Description = Q39_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 953]
2. 2 [Option ID = 954]
3. 3 [Option ID = 955]
4. 4 [Option ID = 956]
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[Question ID = 240][Question Description = Q40_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 957]
2. 2 [Option ID = 958]
3. 3 [Option ID = 959]
4, 4 [Option ID = 960]
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[Question ID = 241][Question Description = Q41_Chinese_UGCNETZ21_20N0OV_51-Shift1]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]
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[Question ID = 242][Question Description = Q42_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4, 4 [Option ID = 968]
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[Question ID = 243][Question Description = Q43_Chinese_UGCNET21_2Z0NOV_S1-Shift1]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]

3. 3 [Option ID = 971]
4, 4 [Option ID = 972]
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[Question ID = 244][Question Description = Q44_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]

3. 3 [Option ID = 975]
4. 4 [Option ID = 976]
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[Question ID = 245][Question Description = Q45_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Option ID = 977]
2. 2 [Option ID = 978]

3. 3 [Option ID = 979]
4. 4 [Option ID = 980]
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[Question ID = 246][Question Description = Q46_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Option ID = 981]
2. 2 [Option ID = 982]
3. 3 [Option ID = 983]
4, 4 [Option ID = 984]
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[Question ID = 247][Question Description = Q47_Chinese_UGCNET21_2Z0NOV_S1-Shift1]
1. 1 [Option ID = 985]
2. 2 [Option ID = 986]

3. 3 [Option ID = 987]
4, 4 [Option ID = 988]
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[Question ID = 248][Question Description = Q48_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 98%]
2. 2 [Option ID = 990]
3. 3 [Option ID = 991]
4. 4 [Option ID = 992]
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[Question ID = 249][Question Description = Q49_Chinese_UGCNETZ1_20NOV_51-Shift1]
1. 1 [Option ID = 93]
2. 2 [Option ID = 994]
3. 3 [Option ID = 995]
4. 4 [Option ID = 996]
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[Question ID = 250][Question Description = Q50_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]
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[Question ID = 251][Question Description = 051_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4, 4 [Option ID = 1004]
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[Question ID = 252][Question Description = Q52_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Optien ID = 1005]
2. 2 [Optien ID = 1006]
3. 3 [Option ID = 1007)
4. 4 [Option ID = 1008]
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[Question ID = 253][Question Description = Q53_Chinese_UGCNETZ21_20NOV_51-Shift1]
1. 1 [Option 1D = 1009]
2. 2 [Option ID = 1010]
3. 3 [Option ID = 1011]
4. 4 [Option ID = 1012]
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[Question ID = 254][Question Description = Q54_Chinese_UGCNET21_20N0OV_S1-Shift1]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016)
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[Question ID = 255][Question Description = 055_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]

3. 3 [Option ID = 1019]
4, 4 [Option ID = 1020]

TN ERT AR

(A) ILF

(B) k3Tt

(©) TKEH

(D) BRHIE

ERERE R

o HEALD

@ HEA.B5D

® REA BEC

@ HEB.cHD

[Question ID = 256][Question Description = Q56_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Optien ID = 1021]
2. 2 [Optien ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]
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[Question ID = 257][Question Description = Q57_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Optien ID = 1025]
2. 2 [Optien ID = 1026]
3. 3 [Optien ID = 1027]
4. 4 [Option ID = 1028]

"D gijiE 3 R o A A RN TE R ST AR BT IE R ?
(A) HEPLIE

(B) WET A X Eaw
(C) Fxxihizg)
(D) K Eam

EEEIERE R

@ RAA.cHED
@ HAB.CcHD
@ RHEA BE5D
@w REA BEC

[Question ID = 258][Question Description = Q58_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1029]
2. 2 [Option ID = 1030]
3. 3 [Option ID = 1031]
4. 4 [Option ID = 1032)

7 TR R E R AR, BEN?
(A) BHEaed
(B) BTLEL
(Cy BT
(D) BHIA

HFIEE SR
@ REaALB
@ RABSC
® HACED
@ REA5D




WWW.prepp.in

prepp

[Question ID = 259][Question Description = Q59_Chinese _UGCNET21_20NQV_S1-Shift1] Your Personal Exams Guide
1 [Opticn ID = 1033]
2 [Option 1D = 1034]
3 [Option 1D = 1035]
4 [Option 1D = 1036]

P Lt P

60)

AR MR LA S A 1 e ?
@A) CRFD

B) (H%)

(©) CHEHD

D) EED
EFEEESR:

@ REASD

@ R&EBLED

® HEA5EC

@ RABLHC
[Question ID = 260][Question Description = Q60_Chinese_UGCNETZ21_Z0NOV_S$1-Shift1]
1 [Option ID = 1037]
2 [Option 1D = 1038]

3 [Option ID = 1039]
4 [Option ID = 1040]

O W R

" FAmL AR TE Y
(A) er

(B) e
(C) el

(D) ou

LE B IR 58

@ REACHD
@ HEBL

® HfEahs
@ HEDO

[Question ID = 261][Question Description = Q61_Chinese_UGCNET21_20N0OV_5S1-Shift1]
1 [Option ID = 1041]
2 [Option ID = 1042]
3 [Opticn ID = 1043]
4 [Option ID = 1044]

da L P2 o=

62)

T I T A RLEA R R ?
A) BINRMMINTAN,
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(B) ZImnZEE—p—AEHET . Your Personal Exams Guide
(C) TR DAN
(D) HERMMABERWE, MEKT .

HIETHE R
@ BHEA
@ REC

® RHfECHD
@ RfEB.CcEHD

[Question ID = 262][Question Description = Q62_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1045]
2. 2 [Option ID = 1046]
3. 3 [Option ID = 1047
4. 4 [Option ID = 1048)

D (FFTKEERY &
(A)  HET RIS

(B) RSB
(C) XA REednJa th R — 30 5= AF di

D) —FBHEEHR
EHIETHER:
» KHED

@ REAS5D
® REBEC
@ HEA.BLEC

[Question ID = 263][Question Description = Q63_Chinese_UGCNET21_20NOV_51-5Shift1]
. 1 [Option ID = 1049]
2 [Option ID = 1050]
. 3 [Option ID = 1051]
. 4 [Optien ID = 1052]

o

" B R R TR S 3T 5 0 H R 2
(A)  VERIEOD

(B) —ARAMIFFFE)

(C) KIEF—RRIORIED

(D)  ZRIIAIERETD

WEFE IE T 52 -
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[Question ID

HEA

HH B

HE A5 B
HEA.BED

= 264][Question Description = Q64 _Chinese_UGCNET21_20NOV_51-Shift1]

1. 1 [Option ID = 1053]
2. 2 [Option ID = 1054]
3. 3 [Option ID = 1055]
4. 4 [Option ID = 1056]

“}Tﬂ@%¢mﬁ?+iiﬁ%%‘

A) &R

B) #
(G

(D) i
EFIETE R,
@ HEA5D
@ HEAL5B
@ HEBLED
@ REB

[Question ID = 265][Question Description = Q65_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1057]
2. 2 [Option ID = 1058]
3. 3 [Option ID = 1059]
4, 4 [Option ID = 1060]

) maxt
List I List IT

@A EFBER o PEREED)
® SR an (RELE)
(© B an (LT 2RSS LIS )
O B awvy {PJE)
O
O Q- B)-AV). (O-AD. D)-D
@  (A-), B)-av), (O)-[@), @)1
3  (A-D, ®-ID, (C)-@V). D)-M
@ (A)-IV). B)-aD, (C)-(D, (D)-III)

[Question ID = 266][Question Description = Q66_Chinese_UGCNET 21_20NOV_51-Shift1]
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oW

°" mnt

In

&)
®
©

D)

. 1 [Opticn ID = 1061]
2 [Option ID = 1062]
3 [Option ID = 1063]
. 4 [Option ID = 1064]

List I
ElE
AL
B St

IR 2 2

ey
(2)
3)
4

(A)-(ID). (B)-(ID. (C)-(D). (D)-(IV)
(A)-aAV). (B)-(1D), (C)-(I). M)-A1I)
(A)-(I), B)-@V), (C)-(D), (D)-(I)
(A)-AV). (B)-D). (C)-(ID). (D)-d1)

List IT
O (BEEAZR)
a CKEH—H D
am  {EAHIEA )
awy (PR D

[Question ID = 267][Question Description = Q67_Chinese_UGCNET 21_20NOV_51-Shift1]

1
2
3.
4

68)

B X

(A)
(B)
©)
D)

. 1 [Option ID = 1065]
. 2 [Option ID = 1066]
3 [Option ID = 1067]
. 4 [Option ID = 1068]

List I
L
51
SN
PR

IR

1
(2)
3
4

(A)~IV), (B)-(I), (C)-(I1L), D)-M)
(A)-ID. B)-@. (O)-aV). (D)-AID
(A)-(1D), (B)-@V), (O)-(D). O)-T)
(A)-(I), (B)-(ID). (C)-[D). (D)-AV)

List II
O (EEE
an { SHRYFIN)
an { AfE)
avy (H &FE)

[Question ID = 268][Question Description = Q68_Chinese_UGCNET21_20NOV_S1-Shift1]

oW

69)

BCXT

(A)

(B)

. 1 [Opticn ID = 1069]
2 [Option ID = 1070]
3 [Option ID = 1071]
. 4 [Option ID = 1072]

Last I Last IT

24— @ A AR R DR B R TAE
PUAHE SZ am FEREARNRIEE
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€y BN AT (IID Fi5 AR HH = — 7 10 [ E 21T 55 Your Personal Exams Guide
D KWK av) IBEEAFZERNABELN, REMNMABEEMRAE

8 TETH & 28 -

@O (A-O. B-AV). (O-dID). (D)-AD)
@ A, B-O. (O)-1V), D)-dD)
3 &-aV). B)-d10), (O)-D). (D)-11D)
@  A-dn, B)-d), ©)-av), M-I

[Question ID = 269][Question Description = 069_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1073]
2. 2 [Option ID = 1074]
3. 3 [Option ID = 1075]
4. 4 [Option ID = 1076]

O EExt
List I List II
&) 0z T FERE o BIAEAN
® RETITH ap ELELK
© BB/RRET am g 7L
(D) FINFT 4 vy A=k
T IR 56

1  A-aD. B)-A4ID). (O-IV). O)-D
2  (A)-d), B)-I@V), (O)-1), (D))
3  G-ab. B)-O. O-1V), (D)-I1D
@  (A-aV. @-dI. (¢)-aD. O)-D

[Question ID = 270][Question Description = Q70_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1077]
2. 2 [Option ID = 1078]
3. 3 [Option ID = 1079]
4, 4 [Option ID = 1080]

AT s

List I List I
@& =XAHE O MY
® Kl ThHE am HR&
© KEFAZ an U1p54
® ZEAE av) BRI
EIFHER:

(1) A-aDn. B)-d), (C)-aAV), D)
2y (A-AID. B)-aOV), (O-ID). M-
3y  A)-@v), B)-1ImI). (C)-{), (D)-(ID)
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€Y

(A)-ID. B)-D). (C)-AV), (D)-AD

[Question ID = 271][Question Description = Q71_Chinese_UGCNETZ21_20NOV_S1-Shift1]
1. 1 [Option ID = 1081]
2. 2 [Option ID = 1082]
3, 3 [Option ID = 1083]
4. 4 [Option ID = 1084]

72)

ACAT

(Aa)
(B)
(©)
D)

(1
@)
(3
(4

List I

(A)-O, (B)-(1D). (O-1V), (D)-AD
(A)-(D. (B)-IV), (O)-(1ID), (D)-AI)
(A)-(ID), B)-IV), (O)-AD). (D)-)
(A)-ID), B)-D. (O)-(1D), (D)-IV)

List II
o AR

an sk
) HZ
W) R&

[Question ID = 272][Question Description = Q72_Chinese_UGCNET2Z1_20NOV_51-Shift1]
1. 1 [Option ID = 1085]
2. 2 [Option ID = 1086]
3. 3 [Option ID = 1087)
4. 4 [Option ID = 1088]

73)

BT

(A)
(B)
©)
)

Tast I

B IETRER:

ey
@)
(3)
@

(A)-(D, (B)-(IID). (O-1V), (D)-AD
(A4)-aAV), (B)-(1), (C)-(). (D)-(1L)
(A)-@V). B)-1D. (C)-(D). (D)-AL)
(A)-D. (B)-(D). (O)-1AV), (D)-A1I)

Last IT
O TESHER. REEBNAA
a Lmt
anm HEAR
avy TERE, BN R A

[Question ID = 273][Question Description = Q73_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1089]
2. 2 [Option ID = 1050]
3. 3 [Option ID = 1091]
4. 4 [Option ID = 1092]

74)

Bo Xt

Last I

List IT

_ b

prepp

Your Personal Exams Guide



WWW.prepp.in

e it BRI

76)

()
(B)
(©)
40

Launala
Avidya
Vipaka
Dharmadhatu

W IEA 2 2R -

()
@)
3
(4

(A)
(B)
(©)

(D)

A)-@, (B)-{I). (O)-IV), (D))
(A)-aID), @)-Av), (O)-@). D)-dD)
(A)-AV). (B)-(1D). (C)-(ID). (D)-@)
(A4)-D), B)-D), (O)-(IV), (D)~(IIT)

) ERt:

Tast T
S >4
i
%
HEE

BIEAER:

(1
@
(3
G

(4)-Im), (B)-(D), (C)-AV), (D)-IID)
(A)-IV). (B)-I0), (C)-(D), (D)-(1L)
(A)-(ID, B)-D). (O)-AV), (D)-(II)
(A)-IV), (B)-I1D). (C)-(D). (D)-(T)

w -
a HEin
am &
W) Rk

[Question ID = 274][Question Description = Q74_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Optien ID = 1093]
2. 2 [Option ID = 1094]
3. 3 [Option ID = 1095]
4. 4 [Option ID = 1096]

Tast IT
M  REEARZ
D) ZRRZKAH
(I HP KR
avy EARPHER

[Question ID = 275][Question Description = Q75_Chinese_UGCNET21_20N0V_S1-Shift1]
. 1 [Option ID = 1097]
. 2 [Option ID = 1098]
. 3 [Option ID = 1099]
. 4 [Dption ID = 1100]

R TH OSREMLEREF OAVER)E)
A =7MRFE

B. ®EREM

C. "HEE

D. W2

HFEIF RS E.

» D.B.A.C

S~

Fan | s A T

prepp
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[Question ID = 276][Question Description = Q76_Chinese_UGCNET 21_20NOV_51-Shift1]

1. 1 [Option ID = 1101]
2. 2 [Option ID = 1102]
3. 3 [Option ID = 1103]
4. 4 [Option ID = 1104]

77)

ZI T A @by R BN e (kG

WWW.prepp.in 'repp
;;; B: z': ;: E Your Personal Exams Guide
4@ B.D,A.C

A EI]

B. ki

C. 58

D. ik

R IETE
M A B.C.D
@ DJA.B.C
® D.B.A.C
@ B.D.C.A

[Question ID = 277][Question Description = Q77_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1105]
2. 2 [Option ID = 1106]
3. 3 [Option ID = 1107]
4. 4 [Option ID = 1108]

ik RS T

A BERATRT

B. WEAARN R
C. BHEEHITETA
D

[Question ID = 278][Question Description = Q78_Chinese_UGCNET21_20NOV_51-Shift1]

Je 22 PR W R AR
&L E R
M D.C.A.B
@ D.A.B.C
& C.D.A.B
@ A.B.C.D

1. 1 [Option ID = 1109]
2. 2 [Option ID = 1110]
3. 3 [Option ID = 1111]
4, 4 [Option ID = 1112]

) g ok R S R

A (AFEL)Y
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C. {(ICWJL& )
D. {iEE )

&L R

M AC.D.B
@ D.B,A.C
® C.B.D.A
@ B.A.D.C

[Question ID = 279][Question Description = Q79_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Optien ID = 1113]
2. 2 [Option ID = 1114]
3. 3 [Option ID = 1115]
4. 4 [Option ID = 1116]

80
" MR (BB (i

A FHEITE
B. VEMANHE
C. BKkE=H

D. BEkEER

i IE T
1O C.B.D.A
@ C.AB.D
®» B.A.D.,C

@ D.B.C.A

[Question ID = 280][Question Description = Q80_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1117]
2. 2 [Option ID = 1118]
3. 3 [Option ID = 1119]
4. 4 [Option ID = 1120]

81)

& NAa)THE, HRETE

A, TEWGTIEEFSSIIMTT, M7 USRI A PR LA ¢ (0 26T R,
AN BT T HE (R PR

B. ERBAEZR, —4-5e8ER YL M E B T
KE R KER K

C. BEAHENXBRRPHER

D. {EREMEBAEZ, REHRDESFEIA A LR HL
AL RS I BE R 4%

LI 2R

O B.C.D.A

@ A D.B.C
3 B.D(A.C
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[Question ID = 28 1][Question Description = Q81_Chinese_UGCNET 21_20NOV_51-Shift1]
1. 1 [Optien ID = 1121]
2. 2 [Optien ID = 1122]
3. 3 [Option ID = 1123]
4. 4 [Option ID = 1124]

52 SRR AR R RS S HE R R A

A ¥

B. *

C. #

D. #

E. ¥

1 TE T2 52

1 B.A.D.C.E
@ A.B.,D.C.E
@ A.B.C.D.E
@ B.A.C.D.E

[Question ID = 282][Question Description = Q82_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1125]
2. 2 [Option ID = 1126]
3. 3 [Option ID = 1127]
4, 4 [Option ID = 1128]

83)

EHE HRRE B BB HE P B S 1 R0
A (B D

B. (ZEWMHAZE Y

C. (WEE)»

D. (LR FEE)

B S 5
M B.A.D.C
@ A C.D.B
® D.B.C.A
@ B.D.C.A

[Question ID = 283][Question Description = Q83_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1129]
2. 2 [Option ID = 1130]
3. 3 [Option ID = 1131]
4. 4 [Option ID = 1132]

" §52020%F 1 tp o X 1 B9 S Ak O M L

_____ ey e b L Tl Lb_wTer I3 I Ade & a2l r — I R
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A EHE
B. K
C. H=&
D. Kk
i IETRE 3R

1 A.D.B.C

@ B.D.A,C

& DJAB.C

4@ D.B.A.C
[Question ID = 284][Question Description = Q84_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Optien ID = 1133]
2. 2 [Option ID = 1134]

3. 3 [Option ID = 1135]
4. 4 [Option ID = 1136]

) SRR, HERFE R TR,

A (Lo )

B. {JEAHE)
C. (|

D. {(WQIE{E Y
EIEER:

M C.D.A.B
(2} A\ B\ C\ D
3 D.A.B.C
@ B.A.D.C

[Question ID = 285][Question Description = Q85_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1137]
2. 2 [Option ID = 1138]
3. 3 [Option ID = 1139]
4. 4 [Option ID = 1140]
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| 86) _ _ ,
Given below are two statements : one is labelled as Assertion A and the""Fersonal Bxams Guide

other is labelled as Reason R.
WS (A): FEZERE RSO EERK.

WO (R): B ARt SRR 11
HETHE R

O A HREIEM, HRE A FEFHER
@ A SRIIEM, HRALEA NIEFMR
3 A E®, 18 RAIEW

@  AREWH, B R IEWH

[Question ID = 286][Question Description = QB86_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1141]
2. 2 [Option ID = 1142]
3. 3 [Option ID = 1143]
4. 4 [Option ID = 1144]

87 : : ;
) Given below are two statements : one is labelled as Assertion A and the

other 1s labelled as Reason R.
WA (A): RIBERE DT HARRIIC SR “5eER” .
B R):F AR CFEN T E aiEZ .

IR 2R

@ A5 RAEIEW, IR 2 A NIEERE
@ A5 RAIEH, HRAR A KIEMRGER
@  AEH,. HRAIEH
@  ATRIEW, HRIEW

[Question ID = 287][Question Description = Q87_Chinese_UGCNET 21_20N0OV_51-Shift1]
1, 1 [Option ID = 1145]
2. 2 [Option ID = 1146]
3. 3 [Option ID = 1147]
4. 4 [Option ID = 1148]

88)
(Given below are two statements :

W O:FEIBEBAREE TRXAREH SR RN B .

A (D BRI IR el e i” R R KEA L0 EBAEK.
EEHER:

O @5 @) WAERIET

@ (D5 q) HADEBAIEH

@ () EW, B J) AEH

(4) (TN ANTEnta AR 71T T A
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[Question ID = 288][Question Description = Q88_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1149]
2. 2 [Option ID = 1150]
3. 3 [Option ID = 1151]
4. 4 [Option ID = 1152]

89)
Given below are two statements :

M (D:19514E10H &, 2k EMN 2 R T ZEE~EHIEE).
MR (D): T RPIEFRETT “=” ., “HR” 25,
EIEE S

O D5 an WAESIEH

@ O5 @ HTEAIER

G (@ IEWH. B J) DIEH

@ O AIEH, 3 E

[Question ID = 289][Question Description = Q89_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Optien ID = 1153]
2. 2 [Option ID = 1154]
3. 3 [Optien ID = 1155]
4. 4 [Option ID = 1156]

90 )
) Given below are two statements :

M (@ BT “)\N” FHEES “K” FiE, PR EANEHER
‘f)\??‘ .

WS (T0): 63T s & i H 3 U Al 5122008 4E8 H 8 HIFES 5.

WIEHE 2R

O OY5 ) HEIETH

@ @5 @ P R
@& @) IEW, 18 J) AIEH
@ D) AIEWH, B0 ER

[Question ID = 290][Question Description = Q90_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1157]
2. 2 [Option ID = 1158]
3. 3 [Option ID = 1159]
4. 4 [Option ID = 1160]

. Topic:- 32Chinese_B

D E RN RRE S, BRI R I R S . BN
ERESHY S, B RS, T R R gt DL R
M, DL SRR, DURTE OB 5 302 M B v T 0
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F. UEAEEEMLA, MHERE R SR RRRE O . Rk
B ] L4 R £ 2 BRLR 1 3 F ¥6

ol

. EZFMEEBHOEEE, I
HRODERIEES, MARBEKIGESNS, PEREESNIT 40 A —
B U AR FE ML X 2R EEAE

B AW Y, EHA= A E, SRR RRE.

DOEEA—FES, RA—UIESHANERE. NGl ERESLES AY

Jbhae, CARRCOAEBIA L, LB s MAE N —FE X8 & N5 R 4.

MIBfE LB, BRI =1F1. MASARXRRYE, FELAMNEEZNIZ
b LR, Do —R{CHAt S mR GRS . FEWRRHIMSEY A
MRARMEFE S RKEW . A SRR B, &F R XANEIE, A7
HESHER, BRI,

BUROGER OB iE WA AL D82 A0 S BN 1o
5, AFEOEAAK. A IETE, fl AR2a. M IRNTE
B BT OEEEIAZIMRR, AR ENERATE, Xa58TFRENE
HRURH, BinRARE NS SENSR. BROFENFE—K
B, MEFIfe A, N T WAk OHERTE 2 ERIZE ] R BR ], & A RE
HICFRICFKOE. WM, ErITEAEZA, X4 T e HmiE. B
MELMAXTFEFRNES, £2UOENEMNEEN, RE50EARK
. BmE@ETRE. ™™g GHeE, RORE. XRRETTERK, 1E
11 BT HEER DA FER T Imam i & HHEBER, AMAR

KiBAHE™ RS,
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Zyr. Ak

&, ~E

e KE

A R

[Question ID = 291][Question Description = Q91_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1161

3. 3 [Option ID = 1163

]
2. 2 [Option ID = 1162]
]
]

4. 4 [Option ID = 1164

2)

POERNRENES, IASGEEMANKENEANES. AN
ERAESMTE, LA RELRE. AR RBEIE RS LA 5= AR

R, BUEG ARG S, DI a i3S Ve v e g w1 .

i 2N RERE BRI TR, FE 2 E FEE 04 EE A 09
. BEEEGENEM, SfhRIEBRMBEKDWRERE (M. Rk

ol

X i) SR A A R R S A S . B 2 ERANSEE, It
BROHRIEES, ORRNRIGENS, SRREESN S E—
S TRV S HO K Ak

EERASMOY, TSR, SRR R,

DOEEA—FES, RA—UIESHANERE. NG ERESLES AY

Jibbae, CARNC 9 @Se e, DUEEASHME N — Mg X/ 55 R A,

MIBRE YL, B a=1FH0. MASARXRRYN, B 2AMIBEEERE
fr THE, RNaMg—FR- it Sl ke . FEWRRHIFIHEYZ h
FRRAEE S RKEH. MAS BT ERZY, BT AR, AAIF]
HESHEMR, Eocit.

PR SOER DB BmiE AR ER . OE2 A0 kL BT E

=, AHEGR. R EETIE, BN EREEE. ST
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B, BT HEEEIAZSEER, AR ENERAE, XARTFHENE

HRMH ), B8RS NHMEESEASF. BROFENFE K

e, XETWAEAL. AT AR OERSE 2 M ER1 2 6] [ R, A LLE

HICFRICFKOE. WM, EREAEZA, X4 T REHmiE.

AR AT S FROES, RUMEREMIERN, B85 ERRER

Rtg. BiiiE@ETRE. 7™ SGxE, KR . ZRMRBETEBR, 13

T E T HEER DA FER T Imemir & O HEER, AMAR

R HE RS EE,

BARDUE AL
o HEFEAFRENES
@ HAEAAFEHES
® IANREHREHNES
@ EHRNEERUES

[Question ID = 292][Question Description = Q92_Chinese_UGCNET21_20NOV_51-Shift1]
1, 1 [Option ID = 1165]
2. 2 [Option ID = 1166]
3. 3 [Option ID = 1167]
4. 4 [Option ID = 1168]

3)

POERNRENES, IAAMGEZMAN BRI ES. A
ERAESMTE, A RELREE. AR REIERE P PR AR

fE%5, DL RS, USRI 1 S B R S T

i 2PN KRR BRI TR, E 3R E FEE 04 EE A 109
. BAEEEGENEM, SiRIEBRBEDWREREE (7. Rk

ol

R UFNEAARKOERESIATS. BFER 2REBEHOEEE, I
HRDERIKES, MARBEKIGENS, PEREESNIT 40 A —

< Al FPER 52 Hh X 2k 268 At FH .
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EERASIOPY, THARNOP AT, B NRRTHRE.

OB A—FES, RAE—UIESHENERE. NGl ERESLES Y

Jiibbe, CARNCI@Be e, DLEEA SN — Mg X/ 155 R A,

MIBfE LB, B =K. MASARXRRYE, FS2AMNEEZNI

b LHE, Nabrg—mR{CHA GRS . FWIEMRIFY IR

MXRRMETFTREN . AR RRY, & REILEE, A7
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[Question ID = 293][Question Description = Q93_Chinese_UGCNET21_20N0V_S1-Shift1]
1. 1 [Option ID = 1169]
2. 2 [Option ID = 1170]
3. 3 [Option ID = 1171]
4. 4 [Option ID = 1172]

4)

POERNRENES, IAAMGE SN R R ES. AR
ERASMTE, A RELREE. AR REIE RGPS PR AR

e, DUILT AR 5, DRI B 1 S0 VB T 1 1

i 2PN REE BRI TR, E 3R E FEE 04 EE A 109
5. BAEEEGENEM, SfREBRMEDWREREE (7. Rk
X u] LA ] s ] AR B (1938 7 5 RS

ol

. EFH & EEAE N EEiE, I
BROJREES, BRRBKIENS, SUREESAT E T U —
S AT RIS S M 8 10 D«

EERMSWY, CHEESOPETZL, BESNRRETRE.

DOEEA—FES, RA—UIESHANERE. NGl EHESLES AY

Jibhae, CARRC B EL, LB N s ME N —FE X8 &R 5 R4,

MIBRE LB, BRI =1F1. MASARXRYE, FELAMNEEZNI
b LR, Do —R{HAtSemR e k. FEWRRHIMNEYh
HXRARMEFSTRERN . MAGAARRRY, &S REILEE, AN

prepp

Your Personal Exams Guide



WWW.prepp.in

prepp

ﬁﬁ%ﬁiﬂ% FR. B Your Personal Exams Guide

BRSGER ORI E WA RER . OFE = ATO kK BN R

5, AEOEHRAM. HAMEAETFNE, 6l RS A SRR N E
i, AHTHEEEIABWAER, AR ENERAE, X8 FHENE
FRAWHL, B EFRE WS BEN R, BROBNFAE—K
BIGHE, MEFRMAEAGL. AT 56RO 5P 2 R F s ] i R w, WA GIE
HICFERIEF O E. M1, EWNOEZA, =4 7 LEHEmE. B
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KB EH S ™S,

HYRHNAEY 2 BRI REBE____ RFEW,
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® Xt
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[Question ID = 294][Question Description = Q94_Chinese_UGCNETZ21_20NOV_51-Shift1]
1. 1 [Option ID = 1173]
2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176

Y EARREGOES, TAE RIS BRI 0SS . B

HRAZMIE, B REXFE. JACNRBEILRFZ LIRS AR
HEw, DUl aEm s s, DUe I B G R B I s .
i F 2 AN REEER bR T, RN 3OS E Z0EE 104 EIE A 09
5. EESECEHENEM, SR KEBERXDURIERENYT . Rk
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[Question ID = 295][Question Description = Q95_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4, 4 [Option ID = 1180]

Topic:- 32Chinese_C

1)

jiiiNg

AR R ?

R E— R E X BEMBNLENRF, B85 T ARKE R R KWL

=5

B DEERARGBTH “ERY BT, GRFERT —HRE. A2
Preixy “rafE N” e antsesd, JREWRAETF . 5o AREEERBAIN
REIEESCRNERITEIR? BREA SR H e AL “BrEFY” Xt

g8

b

L

AN, E—PEMBANWRRREREE —Zm, SRIMCET Ik
BhE, PREREN O] GERYE RN EEZZR. AN, BESRER
SR, FEREEERGIET IR FE LS E, ZREESMH
AT BRKBYIRFREERS U “RAaEREHE, RTEM—ERE. ”
SR, ABRHEZWEENER. TRANGEE, BEHEEDEANE B,
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SR A B AANE 15 1 17 L
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[Question ID = 297][Question Description = Q97_Chinese_UGCNET21_20NOV_51-Shift1]
1. 1 [Option ID = 1185]
2. 2 [Option ID = 1186]
3. 3 [Option ID = 1187]
4, 4 [Option ID = 1188]

2) L
v R Ry i | N

RE— IR B EMNLAE DT, W5 T RREF PR F Tk
BLZLEZRACBETE “7E” T, SRAERT —HRHE. Az
PreAss “IefeN” RV miEzy, FEHREF . SO AFRLIRBA LN
WEEIERBRNEREIR? BERA A H e NXEL “HAEEY” Xt
A 7

AN, E—PEMBANMRRREREE —Zm, SRIMCET ISk
BEE, PROREN O] GERYE R EZZR. AN, BESRER
LB, FEREEERA IR LR SE LS E, ZRIEESNH
KT BRI 4 TR e e “RLEMERIXE, RTEBM—IMEE. 7
SR, ABRHEZWEENER. TRANGEE, BEREEDEANE B,
KU E RIS, Bkl Emm e “<E&%” , SR AN
S A B AN 15 1 17 L
“PRE” FRINIE:
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@ EBL
@ B
@ B

[Question ID = 298][Question Description = Q98_Chinese_UGCNET 21_20N0OV_51-Shift1]
1. 1 [Option ID = 1189]
2. 2 [Optien ID = 1190]
3. 3 [Optien ID = 1191]
4. 4 [Option ID = 1192]

3)
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AR I IR ?
B — AR QAR LVE DB, WG T ARKME R R S ik
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AN, E—FEMBANMRRREREE —ZEN, SRICET IR
B, PREREN O GERYE RN ERZZ R AN, BESRER
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[Question ID = 299][Question Description = Q99_Chinese_UGCNET21_20NOV_51-Shift1]
1, 1 [Option ID = 1193]
2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]

4)

al

AR RS
S —RAE 5 AL AT B, 5 T AR MM R Tk
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BROIR “SiREA” RREIIERY, BT UL, sk ABIRREHAKL
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L IEEE?
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[Question ID = 300][Question Description = Q100_Chinese_UGCNETZ21_20NOV_S1-Shift1]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]

3)
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[Question ID = 5844][Question Description = Q96_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 22839
2. 2 [Option ID = 22840)
3. 3 [Option ID = 22841)
4. 4 [Option ID = 22842]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (5E) 15% 3:2
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (IMA) 21% 3:4
Production and Transport (PT) 19% H5:3
Others (OT) 6% 3:b

freafafan et w faem fifve o o 2 ge o F tom & ffw gt 4 ara & weiew = gfowa
(%) Taewo awn qey-ufgen weise sma qutan T 3wl &9 % P e h e 80 W9 2
arfersr 13U T4 3RSl % YR 9T YT % 39 i)

GG % HAE F AT

TSI, oh1 &5 G = HEHEA
vt (%) forwor | gea-ufgenm ogo@ (g0 )
o (T8 3) 15% 3:2
@ (T 1) 12% 5:3
fmtor 3iit smeaw (ot ) 9% 5:4
e (i TR) 18% 5:7
WeeA (T U) 21% 3:4
IedTEa iR uftmsa (i ) 19% 5:3
s (3 &) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t i e 5 Srew $ oftea ge 991 27 (S9med % 31 97 a)

i1 A~ 20 FATIE N A £Q /3T
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(3) 5.96 G (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3, 3 [Option ID = 8027)
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% B:d4
Professional (PR) 18% BT
Management (MA) 21% 3:4
Production and Transport (PT) 19% o]
Others (OT) 6% 3:68

Frefefan @feem w fiem Hift formd o & 3 4 9 e % fafim & 9 wa & Felsw = wfowa
(%) o qon gEu-afEen weee ouw qmta T 2| 'l EEl % P wEed B e 80 9@ 2
qifers 7 4T T SRS % AR W ATT o ST Al

A * S 1 & fm
IR 57 & I o Frfer
stca (%) fom | gea-afgen oo (37 )
a1 (7@ 3) 15% 352
oy (Tw ) 12% 5:3
Fmtor 3t arar (di ) 9% 5:4
AT (d 2TR) 18% 5:7
&g (TH U) 21% 3:4
Ieures IR ufiaes (di ) 19% iR
317 (211 &) 6% 3:b

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%

(3) 320% (4) 80%

Ty § ot It SR #E W Wi uiEen SRee $ P gem 9 & o PrERd ye weed i aed Hw5

farer wftmma 272
(1) 330% (2) 318%
(D 320% (4y 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8029]
2. 2 [Optien ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]
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and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% B:7
Management (IMA) 21% 3:4
Production and Transport (PT) 19% H5:3
Others (OT) 6% 3:b

Frefefiga arferes w faem fifse fomd v & ge ot o toem o fafhe gt 4 awa = selse = i
(%) T awn qey-ufgen weise swa qutan T 3wl &9 % e wrEEsd e 30 W9 2

qrferser § 39 77U RS % YR W YT @ I fAg)

TSI, oh1 &5 G = HEHEA
vt (%) fowor | gea-ufgem ogo@ (g0 )
Ha (T %) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3iit s (ot ) 9% 5:4
wrbeEe (d 3TR) 18% 5:7
oA (T U) 21% 3:4
IedTEa iR uftEsa (i ) 19% 5:3
317 (31 ) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH T 3R TH T &) 0 HEd 5% BEed H Fa G 6 F 49 § TR SEed o fe Geal 1 aTET

Tora wicwa 27
(1) 82%
(3) 80%

2 87%
4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036

4)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
veayr. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

o, FR ‘DU B o, B S,

j

S, (RN N - 0 F. Ly
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Distribution M:F)

Service (SE) 15% 3:2

Sales (SA) 12% b3

Construction and Maintenance (M) 0% 5:4

Professional (PR) 18% B:7

Management (IMA) 21% 3:4

Production and Transport (PT) 19% H5:3

Others {OT) 6% 318

Trefafian wfvm w faem fifte o o fea g ot = toem & fafhe gt 4 ara = weis = o
(%) faemo awn qey-ufgen wedee soa qutn T 3wl &9 % P e e 80 W9 2
qrferser § 39 77U RS % MUR W YT @ I RAg)

TR, oh1 &5 ARG = HEHEA
wtawa (%) forwor | gea-ufgem ogo@ (g0 )
Ha (T %) 15% 3:2
Tow (T 1) 12% 60
fmtor 3ii smeaw () 9% 5:4
wrbeEE (i 3TR) 18% 5:7
oA (T U) 21% 3:4
IedTEa iR uftEsa (i ) 19% 5:3
317 (301 ) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

TH U 31w U EE § FEE Afeen FEEd ®i For aea o §i & 43 # Fea aften seww f qem w

3R A 27
() s.1u= (2) 7.5 <@
(3 5.7 &g {(4) 13.2 @G

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
veayr. Total workforce in all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% hoyd
Professional (PR) 18% B: 7
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Production and Transport (PT) 19% H5:3
Others (OT) 6% 3:b

Frefefiga arferes w faem fifsg fomd v G ge ot o toem o fafim gt 4 awa = selse =0 i
(%) faewo awn qey-ufgen weiee swa qutan T 3wl &9 % P e e 30 W9 2
qrferser § 39 770 RS % YR W YT = I fAg)

TISHTI =61 &5 AT = FHHE
wtawa (%) forwor | gea-ufgenm @@ (g0 )
o (Tm 3) 15% 3:2
Tow (T 1) 12% 5:3
fmtor 3ii s (ot ) 9% 5:4
wrbeEe (d 3TR) 18% 5:7
oA (T U) 21% 3:4
IedTEa iR uftEsa (i ) 19% 5:3
3 (3 &) 6% S5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2) 16 : 37

(3)16 : 35 (4)16: 39

ot w & # wrEa wfEen FEad B FE SR § o vd o1 A A6l ° S 769 wEEe i fel Wedl 6

ST T B ?
(1) 17:39 2y 16:37
3 16:35 4 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4, 4 [Option ID = 8044)

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

ALTE # fFm T2 § gea AR fEm 3T gee i aTea FE R 6% SHated TGl W Bl 2 7
1 TRk @) erEEY ®H

(3 HHEwXL (4) = fawm
[Question ID = 2012][Question Description = Q06_GP_20M0V_S1_SHAAN]

14

[Option ID = 8045]
Ll

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A} Self efficacy
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(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below ;
(1) {A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafaa F2 giate sramm awaett 6it gt 2 G srommm wed fafie wral = meam @ faf=a e
T 2| 32 IHT S HeeR s B Avar §) 39 A 9 df quaie SHegR S & et oardt 37

(A)  ArcA-GEa (Fmed)

(B) FEeE

(C) Tz i ot

D) Ty

(E) 9=

= feu o el d ¥ @Et I = =Ea Hif
1 @wB

2 (B R (C)
(3) (D) ¥R E)
4  (B) (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8049]
2. 2

[Opticn ID = 8050]
Al

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I List 1l

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (1) Using Swayam and Moocs

(B) Open and distance learning method ({ll} Programmed instructional packages
(C) Individualized method of teaching ({lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below ;

(1) (A)-(1), (B)-(I1}, (C)-(I), (D)-(IV)

(2) (A)-(1I}, (B)-(IV), (C)-(1), (D}-(1)

(3) (A)-(IV), (B)-(NI1), (C)-(N), (D)~(I)

(4) (A)-(ll), (B)-(1), (C)-(IV}, (D)-(llI)

g1 % ar geh-11 1 e i) g1 4 s= safem donat § frgw 6 fafee § 18 €, sefs g=h-
11 & sifermg fafirt <t woresiier se@ i gt & w8 2

g1 Tt 1T
forgor =t fafzen ueErEldar g $t aRdth
(A) HAWHA-GrH whi FAdfparcres Tt D) wa=d R qeg & JEe
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(B) I 3 gLl 2nferm faie (D) ARG AFERTCHF bt Your Personal Exams Guide
(C) Toreror it dafes fafk (III) WISTER LITeAF Gt

D) Freror Fr T Rl AV) witral & my-Ty fmes A

5 fov o fawedl § O T S8 w1 96T Hie

1) &-D, (B)-AD, (C)-AID, (D)-AV)
2y @I, B)-aV), (C)-1), (D)-(1D)
(3 A-av), ®)-din, (©)-an, (D)~
@ Q-dAD. B)-O. (O-AV), (D)-(1ID)

[Question ID = 2014][Question Description = Q08_GP_20M0V_S51_SHAAN]
. 1 [Option ID = 8053]
2 [Option ID = 8054]
. 3 [Option ID = 8055]
. 4 [Option ID = 8056]

P it R

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are desighed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I} and Statement (ll) are correct

(2) Both Statement (1) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct

F97 (D) : Iqeifesr afi wifterman ofteon =t qlienfi & T o 39 gaar &1 Tult dimr @
T ™ GETd AR T S 2

e (I0) : Fegig =afeea wlam ik nad safwaa aleo wenfiE = fafie smer 3 o =
u G % gEeE 8 IR ey W #)

ST FI H AR 4, 4 U 0 freew O © we8 SUERE ST W T it

1) w9 @ A 2 FE 2
2) =W @) 3Tk (1) I Tom B
3)  wF (D)W 2, At e (1D o R
@) = () 7eE 2, S w99 1) 95 21

[Question ID = 2015][Question Description = Q09_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8057]
2 [Option ID = 8058]
. 3 [Option ID = 8059]
. 4 [Option ID = 8060]

P bl B —

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

:Pl:‘\t:}m{‘:rnﬂﬂg-maﬁmmfhnnnﬁln“a\\&m#%ﬂéﬁmﬁmrﬂ nnnnn f =AY
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r oy L ] T TET A Et R E ja mma e WA e m A u- EO— L A L S T —E\-u T L R s T )

a; uaa;;ﬁ R Your Personal Exams Guide

AT (A) ; foreqor % anler ik g H A sl weEar yonett @ g w@ies siftem gfommi
=Rl TEAH SAMT 2

FROT (R) : forddt worrel) fneror wemar wonedt =i wiftem wfifeafet 4 gan % @y g3 S s
EHE

I YT F oS |, 79 B v et § 9 get S W 999 il

(1) (A 3 (R) g1 geg 2 31T (R), (A) 1 &t =areqn 2

2) (A & (R) 2F TF &, AfF R), (A) F wE =e = 2

(3 (A w2, afF (R) sme 2

(4) (A 3= 2, AfF (R) ¥ 2
[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8061)
2 [Option ID = 8062]

. 3 [Option ID = 8063]
. 4 [Option ID = 8064]

O

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopg wepr % 7w o uigarfi-uide = Deasa e Smr e ?

(1)  Jord g (2) tfaEites My
(3)  SAHATET WY (4) TETIETE Wy

[Question ID = 2017][Question Description = Q11_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = B066]
3. 3 [Option ID = BO67]
4, 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

{A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uitsreu aftemr Rt afofe o @t ofigf® = ogfe % =v 4 2t 3, oy 6 f=fafea § @ & &t

] T GUFRR 27

(A)  Taaroners &

(By  vHien=s fafy
(C) e fafy
D) el f&f

(E) ==mwEmess &t

F=1 fou o famwedt § @ O 3w w1 9= i

1) (&) B
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(2) (B) 3 (C) Your Personal Exams Guide

3 (O 3R (D)
4 (D) IR (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (1) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (I} Raising pivotal question in a field of enquiry
(D) Data Analysis  (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1I1}, (B)-(IV), (C)-(N), (D}-(I)

(2) (A)-(1), (B)-(11}, (C)-(ll1), (D)-(1V)

(3) (A)-(I1), (B)-(1), (C)-(1), (D)-(IV)

(4) (A)-(111}, (B)-(I), (C)-(I), (D)-(IV)

A1 % oy gef-11 = foers fifs) g1 @ w9 % = uea 2, St gef-11H 379 g1 Y@ ai®

et Feft-I1

I o =0 YT | A8 AT TAE
(A)  wwE Y (I)  ATRS! =1 WS 31T aThE Tegdtnon
(B) ftrewar fmfo D) U FoTX U ¥ T H
(C) wid=e afen 1 =2[ (III) <1 % &9 & 9T uv 33
(D) kg frwemor AV) i % =0 % sl gae i e
F fou o fommeal # © W SR H1 = B

(1)  (A)-dD. B)-IV), (O)-aD). D)-(D
2)  @-D. (B)-AD). (C)-AID), M)-AV)
(3)  (A)-dD. B)-1), (C)-D), (D)-AV)
(¢  (A-dID. B)-@). (O)-AD. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4, 4 [Option ID = 8076)

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatoery for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I} and Statement (ll) are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement () is true but Statement (I} is false

(4) Statement (1} is false but Statement (I} is true

= 3t wum fim e R

w97 (D) : T TU-TEY SR WE-TT § qEe o 2T % taed iR Weh % sftw R st 7
B 2l
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T (I0) : g wadt e ik s semem wft il % R s 2 Your Personal Exams Guide

ITUH HA H T 4, = B T feedl ¥ @t s 9 i

1)  =F @) ik (D) I T 3
2) = @O R AD 3 o B
3 =y Q) " 2, dfa weE (D) s\ed 2

@)  FF () 9F T 2, afe w=eE 1D 79 2

[Question ID = 2020][Question Description = Q14_GP_20N0OV_51_SHAAN]
. 1 [Option ID = 8077]
2 [Option ID = 8078]
3 [Option ID = 8079]
. 4 [Optien ID = 8080]

T e

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R} : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

F= @t = for € wm sfuwem (ﬁssertionA)%mﬁ%%ﬁaﬂmﬁw(ReasonR)

* % H

Aty (A) et miy oferea (Hy) =1 Fassofa aferegr (Ho) R @gmar @ wdaor fen s
Rl

FRT (R) : v ferew T (Hy) = aekanfa = srfigfe d@id w0 @ =8 6 a1 gt 21

U YA *h AT §, A U o faeredt W O ged 3uhT TR W 9FA HIT

1) (A) I R) AT G T IR (R). (A) Fi wE = 2

(2) (&) ®R) I T 3, AR (R), (A) F @ =@ T 2
@ (A2, dfFF ®) T8 TE R

@ Q) "d TE 2, 9 R) =@ R

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4, 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

wyredta 9 aiee Toiw 9N ugiE ve feaw Featafaa 4 | fre ot e 22

(1) 30 SHat (2) 30
(3) 15 3AEN (4) 15 7=

[Question ID = 2022][Question Description = Q16_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
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(1) The Statesman (2) Times of India Your Personal Exams Guide
(3) The Tribune (4) The Hindu

fopm THMERT 1 WS- (A "Let truth prevail” 87

Q  fi R () T A 3
3 fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20N0V_S51_SHAAN]
1 [Option ID = 8089]
. 2 [Option ID = 8090]
. 3 [Option ID = 8091]
. 4 [Option ID = 8092]

e bt D

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R} : Internet is tending to eclipse broadcast media,

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 3+ fim e B : o IfEUA (Assertion A) % w9 # faflad 2 af 39U 3W% FR (Reason R)
FEIH

a1firepeE (A) Aftrs wan (sigere) suasa i gafweie i St g 2, v A3 Higm
£ e T TOF U9 U2 @ 2

TR (R) FER THRY (Fiswne) Hitem W aee 2 ) 3T woE 2

S HYA % e 5, T G v feeui O O wed S SR e iR

1) () it ®) A gd 2 =R R). A F wd =en B

@) (&) SR @) A T E, A R), Q) B e s T Y
(3) (M TR, @l (R) w78 2

@) (A= TE 2, I (R) WE B

[Question ID = 2024][Question Description = Q18_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8093]
2 [Option ID = 8094)]
. 3 [Option ID = 8095]
. 4 [Option ID = 8096]

P bl B —

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3} (C) and (D) only

(4) (A) and (D) only

FIEER % SUd & Bg Ul Uiel Aeehies FRE TR ¥ T RIS [0 9 el difwd 5uv

(A) wuE fagm fafimt $i aman H @9 B9 %
(B) =1 i safim siwe % @y vfnem 23 %
(C)  smfen Fi e gome = TR weE % T

(D) T2 gron s9H % fon R e = wew nae it B 2
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H for o foekedt d W wwW SUET 3T 0 9E iR

(1) e (A) 3R (B)
(2)  Fa« (B) 3 (C)
(3 % (C) (D)
(@)  FE (A) JRD)

[Question ID = 2025][Question Description = Q19_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = B098]
3. 3 [Option ID = 80%9]
4, 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), {C) and (D) only

fio & 7 geh d @ e £ wEEmie st . e S

(&) T
(B)  mEa
(© g
(D) ety

(E) € % 7 8

=1 fau o fawedl 9 ud I w9 Fifew

() Faa (&), (B) 3R (O)
2) == (B). (C) 3R (D)
® =& (C). (D) 3R (E)
4  F (), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S$1_SHAAN]
1, 1 [Option ID = 8101)
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs, 5,000/- (4) Rs, 6,000/-

T T4 % S0 U TRER W oIad Wi 599 U 3 el ¥ 4000 T, IUE TS 4 Her H 4500 T
R Ifim 5 WEAT 9 5000 T 97| AfE 3@ A % INE P w=a 5000 ¥ off a7 3w ufEw A eiga
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(1)  3000/- v (2) 4000/- s
(3  5000/- TR (4) 6000/- T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4, 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76,5  (2) 98.25
(3) 55.7% (4) 56.7%

70 W 90 =k i shl gt IS AT % Ad FaE -

(1) 76.5 (2) 98.25
(3  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres, Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

FE ARG 33 TeX g9 9 W L1 ofex 39 % A gem F s @ aIfSia FRa 21 afoma § @

&dlY -
(1) 25% (2) 50%
(3) T0% (4 80%

[Question ID = 2029][Question Description = Q23_GP_20N0V_S1_SHAAN]
. 1 [Option ID = 8113]
2 [Option ID = 8114]
. 3 [Option ID = 8115]
. 4 [Option ID = 8116]

e it R

19) If the cost price is 25% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

37 Tl =g o1 wiTd ged U Fsea ged w1 95% 2 at e ) wfowren @ 27

(1) 4.26% 2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8117
2 [Option ID = 8118
. 3 [Option ID = 8119
. 4 [Option ID = 8120]

T e

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/~ (4) Rs. 1,560/-

72 ig = Tt aeg w1 25% wfawa i o & 38 1200/~ o ¥ dwar 2 @1 30% =1 @19 HAH K
fore =@ =w =g = fFw Fima W s= =R o e

(1)  1600/- v (2) 2000/- =

3  2080/- ¥ @) 1560/- T#
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[Question ID = 2031][Question Description = Q25_GP_20N0OV_51_SHAAN] Your Personal Exams Guide
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122)
3. 3 [Option ID = 8123)
4, 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T9 YA geAerE § e w fetataa § % f9-w g9 ome atg 6 Rl §19 a5g 3 maEa ®

ATl 27
(1) sy (2) geA
(3 sauE (4) sHTAlSY

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3, 3 [Option ID = 8127]
4, 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (&), (C)

(4) (D), (E), (A}, (B), (C)

I TR o STTER T < A H T 1 Gl 369 T 8 7

(&)  ToEms T O e S wEEe/ wEsTar 1 weE (39EE)
(B) U W w ()

(C)  afiemon i fagdt % = 4 gfe (Frmm)

D)  eTivuren w1 (i)

(E) fifta Fras =1 szmor 30 (32E)

fi=5 fom M fomreut € o Of s W 9 Fifsw

1) D), (E). (A (©), (B)

2 D), ©), B), (A), (E)

3 (D). B (E). A ©)

@ D), (E)@A). B ©)
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya
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TS YRAHE SR 6 A -|] WEE W5E YA ST F IO A A 7

(A) —=F

(B) Hifiw

© dtg

D)

(E)  =mEtn/arme

=t faw e faepedl o @ @ I w1 <A il
(1) %= (B) 3R (C)

2)  FF (B). (C) 3 (E)

(3) = (B) 3 (E)

4 Fa=(A), (D) N ()

[Question ID = 2034][Question Description = Q28_GP_20NOV_51_SHAAN]

(B)

©
D)

(E)

Choose the correct answer from the options given below :

(1)
(2)
(3)
4

Vaisesikas
BPuddhists
Mimﬁmsﬁ

Carvaka/Lokayata

(B) and (C) only
(B). (C) and (E) only
(B) and (E) only
(A). (D) and (E) only

1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements
Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement (ll) are true
(2) Both Statement (1) and Statement (I1) are false
(3) Statement () is true but Statement (I} is false
(4) Statement (1} is false but Statement (I} is true

TRasERems:

& () ;

oA (10) :

IHIF FUF oA H, A BT T e § ¥ wE) SO % 99 i

7ot R ThmE % AHER A aifhe #9 % a@na off g 2

s T 75 Tel samdt 2 % 25 5% IR ® ST9AW o1 =Ry "ok aegd: I8
sl 2 2 29 0 e e 2

prepp

Your Personal Exams Guide
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(1) =R (D) 3 {0 341 ¥ 2 Your Personal Exams Guide
@  w Q) R D I o=
(3)  #W Q)T 2, aFF FoF (D) 8 2

(4) =9 () 39T 3, A =wgd (1) gea 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
g et

[Option ID = 8137]
2. 2

[Option ID = 8138]
3.3

[Option ID = 8139])
4, 4

[Option ID = 8140]

25) Match List | with List 1]

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the Kkitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gefi-1 % @ g=hi-11 = frem fife)
-1 TEt-11
T % =l GETIER
(&) aifraron iy % w9 gfy @ el gl g 2 ael am ad 2 SN wWER
T
(B) =HRT =T B A el W AT Rl
(C) Fafka Frem 1 sgEwr & (1) safa vaErd w e 2|
(D) wenftm ) snereht sfivgron =1 w99 (IV) it I= usT 3

= fau 7 famredi § ° 91 F9C 1 =9 R

1)  @&)-O, B)-AIDh, (C)-0V), (D)-(IL)
2 @-IV), (B)-dID, (O)-A). (D)-aD)
(3  @-AID, B)-AV). (O-(D). (D)-AD)
@  @A-adD. B-, (C)-111). M)-IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models,

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology
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[Question ID = 2037][Question Description = Q31_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4, 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it,

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8149]
2 [Option ID = 8150]
3 [Option ID = 8151]
. 4 [Option ID = 8152]

oW =

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B}, (C), (D}

(4) (D), (C), (A), (B)

a4 99 § e B Gual = w9 ° Foefaias ©RS guaietl % 98 %9 i qeeE i)

(A) 1500 M Bytes
(B) 5 K Bytes
{C) 1 G Bytes

D) T Bytes
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[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8153]
2. 2 [Optien ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]
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29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il} : Wi-Fi can transmit data at a faster rate than Bluetooth,

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement () is true but Statement (I} is false

(4) Statement (1} is false but Statement (I} is true
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[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159
4. 4 [Option ID = 8160]

30) Match List | with List Il ;

g1 % o geh-11 a1 frer R
eI I
(FHPgER T ¥ ) (I
(A) OCR ) 2fa a1 seafaiiaa SRS 1 S5 B 6
fere s i &)
(B) OMR D) sg-fered wharst § o g7 % & fog
S g B
(C) Email (11) Taw=IT F T
(D) Instant Messaging AV) TEHITR FEG e
F= oy o fawe § 9 uF S H o hi
(1) (A)-1D), (B)-D), (C)-(IV), (D)-(I1I)
(2) (A)-AD. (B)-D). (C)-1LI), (D)-IV)
(3) (A)-(D, (B)-AD), (C)-(1D). M)-AV)
(4) (A)-(D), (B)-(ID), (C)-IV), (D)-(11IT)
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Match List T with List I1:

List I Last I
(Computer Terms) (Purpose)
(A) OCR (I) Used to scan typed or handwritten
documents
(B) OMR (I Used to mark  multiple-choice
examinations
(C) Email (III) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @)-dn. B)-3). (O-AV). )-III)
(2) A)-AD, (B)-(D. (C)-(ID, (D)-(IV)
(3) (A)-(D, (B)-(I), (C)-(I1L), (D)-IV)
@ A-O), B)-AD. (C)-AV)., D)-AII)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
L

[Option ID = 8162]
a3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2} Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd 10 9 $lH-ar v 9 = 0 BE G 9wy 20
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[Question ID = 2042][Question Description = Q36_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = B166]
3. 3 [Option ID = 8167]
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga 9 9 wiv-w = Fiq RS9 w5 w8 v
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[Question ID = 2043][Question Description = Q37_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?

(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

Feafafaa & @ Fi9-h wekes onug s agdt 3 ofit swd sfEmfers o wF e 27

(1) (2) woHETE R
(3) =Emd (4) A

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
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. 1 [Option ID = 8173] Your Personal Exams Guide
2 [Option ID = 8174]
. 3 [Option ID = 8175]

]

. 4 [Option ID = 8176

o =

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG WERR ! FieAviE #1291 % de § NMSHE Fefafiga § 2 frmem qgmer 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayvan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177)
2. 2 [Option ID = 8178
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (€) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frferfas 7 o fr Tt o1 afige I T % TR SR Sy TReE T 9 8 7
(A)  ATSZISA SEITEAES

(B) TR g1y (PMas)

(€) A9

(D) HEF

(E) T5cH 3T9ERs

= fam o Aol § ¥ o S % 9 hiR

1) = (B), (C) 3R (D)
2 F A), (B) R (C)
3  *a« (B) 3it (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3, 3 [Option ID = 8183]
4, 4 [Option ID = 8184]

36) In context of Higher Education, Hon'ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
z= e & e o, gdE swan =EeE A e e o giegwn dan 9 fyifa e & o
Fefafiaa % ® Fra vda P /s = Feg G me?
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[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186
3. 3 [Option ID = 8187)
4. 4 [Option ID = 8188

37) Match List | with List Il. List | names various organizations while List Il gives their location :

List 1

¢+ Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru
(C) NDRI : : (I} Lucknow
(D} CDRI ; ; (IV) Karnal

A1 % wy goH1-11 = e il
g1 Fit-11
@ wTTH O e
B @A I s
(€) T F AR T (1) wETs
(D) i 2 s o (IV) =

9 fou 7u faeredl 4 @ wd S W A A

(L
(2)
3
(4

(A)-(ID), (B)-dID), (C)-(I), (D)-1V)
(A)-(D, (B)-M). (G)-(IV). (D)-1I)
(A)-A1D), (B)-AD). (C)-(D). M)-AV)
(A)-AV). (B)-ID), (C)-(1I). (D)-d)

[Question ID = 2048][Question Description = Q42_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4, 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology te understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

73 forem fife (w7 § 1)-2020 % @ 3 & v Fit w9 FE T TE@E 2| 59 Ferm % i a2

(&)
(B)
(&)
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E)
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L A (A). D), (B)
2 % (A), (B). (B)
3  *= (B). (D), (E)
4 FaE (@A), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_5S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A}, (B), (E) only

(2) (A), (C), (D) only

(3) (B}, (C}, (D) only

(4) (C), (D), (E) only

Frefafea ¥ @ -9 3-sifrm 52 87

@) =

B) RLes

(C)  Taausn

Dy <k

E) 7TH

T2 fau o fawedt § O wE SO% 1 oA S

(1) === (A), (B). (B)
(2) = A), (©). (D)
(3) %= (B). (C). (D)
@ === (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198
3. 3 [Option ID = 8199
4. 4 [Option ID = 8200

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T TUF % TEET 99 gAY 2015 # "oa e weE-4 § weig reiiEd 3 § SH-9 989 ST

LI 1 1

(1)  SO9 TR IR dgE (2) T e

(3) T IEH (4) I EER TS STEEE
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[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8201]
2. 2 [Optien ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]
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Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO., and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T GREEEF 93 T $H9E 1 3T T 99 W I 3

BRI I Hifag-19 HEEl AR @99 1 g ARah W gwhe iR fgdfa fawaag & o 6 g
a1 AR 21 oe ad ¥ sifts B § ol § oud s % W U ArRE STEREH H DS T
HEId ® Fel IR B o1 T q@E B A 10 TG @R I S el g & 4R gl wear B gl w6
A FWEAA 9 IS IS @ 2| W AT WEWHI TR THe § wEl T 3, AT UF Ty
amfsEm-a1fE e f 21 2w oW Taw =t ww awRe 2| so e aenfas onitw ofm
T T 3H T 3 o @ wng o TR FeR w99 §) @3 ug i afs e afemfa
(Rerardl) & 9 @ St dt w ool Fea WaF 9 T 8, WY o 9% fava wre wed % ueEm U we ©
@R wedl gedl i 3@ w ¥ oaw u Avew uedE et feem % oW W o 3 @ s
o= % Aged § foum e @1 21wt B e st e it amr men @ 1 5 98 war fe et
wd A gei v i el gie difle gl % gew oft wng-ge @t 2 31 SfaddE 3 wned W
a9 2 5 400 fafemm (40 =) @ it Teien o v &) faza S J R o R R owm e
g7-Tau (W) d 110 ffema smieh swer F w=h snof) gom sifime 2 7 800 fafema (50 #Ug)
A A i sl @ e § g 1E g )

The major crisis faced by the world since World War 1l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

fadar Prarg = iz foma 1w =t wwe Pem & o a7 27
(1) it (2) UtEiiEhME

(3) HER (4) wWREZ

[Question ID = 2052][Question Description = Q46_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
| 4. 4 [Option ID = 8208]
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2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T I FEGYES 98 a1 386 a1 2T T 99T H I 3

FIAT T FITS- 19 HeMRI TH1 THA T 1YY 37T TR w9 iR fita favagg & o i v=w
ot Tt 21 fime ad % «ifim A1 § e § s seve % @9 U arRE SRERH R BisA SO
Terg § e g 2| W qF gEg BY U 10 TR @ AT S a9 & R gl Arear gl 6
T SEEE W I U W 3| g AT TR TR e ¥ FE UT 2, I8 Th [
amifaw-alls @z ot 21 3@ = wEw oafs Tow wwitE ) tEe e it enfie el
ToHifas T9E Ugd 9 § FeE am an w1l EE wH o 2 9 ug o gt e afemfi
(ferarll) 1 9 @ 31 ot o TRl cd e AR @ R, WY B AR FIva TR W F Wedr ¥ 99 B
= wedl gegl B i 4@ W 2 A 7 Afvad geam agie feem % wE W off 3 @ Eiee
o=k o Aged ° s o T 31w T @ st Sesfen ot o e @ €1 o 72 war s afifeaten
F& AW 2P0 T | TR g gifiE T %R dlew o wg-de wiell ug 3 SiauE 3 whed W
s 2 3 400 fafemm (40 =) @i i TiE wEEd B T AR R At R m e
g -0y () @ 110 fafomm smieh ser i st snufh) goe sfime 2 B $00 fufema (80 =)
A AT i) sl W U e | e E g )

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEr = Frefataa § 8 e 8 W waE A8 ugi 27

(1)  wmh (9) o
(3)  =mm o v (4) TEIR

[Question ID = 2053][Question Description = Q47_GP_20NOV_51_SHAAN]

1.
2.
3.
4.

3)

1
2

3
4

[Option ID = 8209]
[Option ID = 8210]
[Option ID = 8211]
[Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since its emergence in Asia late last
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year. the virus has spread to every continent except Antarctica. We have now reached the Your Personal Exams Guide

tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented saocio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T EEEEE 5 T $89E a1 3T T 99 W IW 3

FIAT P Ffag- 19 HEMRT §AR W99 1 SIqd 4as e g9 iR g favaag = o & wsm
a1 AR 21 ewt ad % sifts B § ol § sud s % WY T ArRE WIEREH DS T
HEIdT ® %t IR B o1 T @ BT W 10 TG @R A S e g & AR gl wier B gl w6
T SR Sy IS U TE 2| UGY AE WEWMH) WREA GHe ¥ wE ARrE P, U@ Ok g
amTSE-F w@we ft 3| 2@ W UST e W UNiad 2) e el gentas omfds ofR
(Ferardl) & 9 @ St dt w ool e WaF 9 @ 8, WY o I% fIva Tawe wied % ueEm U we ©
@R wedl geal B ol 3@ w ¥ oaw u Afvew oedE et freem % W W o 3 @ s
oA & Sgea | froum = @ 31w A e st Aesfen ot s e @ €1 s T2 wan e afdesute
w9 A w00 wed )R g difia T % glew 3R wmg-ge wiell 98 2| audiE sm gied W
IgHA 2 5 400 fafemm (40 =) @ it Teie s gt &) faza §=% F sgR T R R owm e
g-Ta (i) d 110 ffema smieh swer i wh snof) gom sl 2 B 500 fafemm (50 #g)
T A gRend) SrEl W g R § awd T2 5 )

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-T FEGY HITS- 19 F W@ FH TG 521 27

(1) iz ) s s
(3)  sm=ferm (4)  sielfEsr

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8213]
. 2 [Option ID = 8214]
. 3 [Option ID = 8215]
. 4 [Option ID = 8216]

oWk b2 o

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an

unprecedented socio economi crisis. Stressing every one of the country 1t touches. it has the
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potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TN i HEYHIYS® ¢ a9 35 a8 73U T8 g9 9 36 2

FIAT T FITS- 19 HeMH §H1 THF T S1YAqd 37T e o iR fidta favagg & o i veE
€t I R1 fimet ad W sifiw A F wfen § cudh sgva % @Y 9 avRE SR H SisH 9O
HErg ¥ HA P 2| oW qF gEg FI U 10 TE AT A I T g € R 1 Aear i aifd
T SEEE 9 IS U8 W 8| g A8 TR @R e ¥ B T 2, I8 Th SEE
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3} UN-GHRP  {4) UNSC

=1 4 @ 5w 9o 3 UN it amtas e afamta (o) I =1 9903 wem e 8 7

1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4, 4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,

and working under the leadership of the UN Resident Coordinators. Every day. people are
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losing jobs and income, with no way of knowing when normality will return. SmallYour Personal Exams Guide

islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % et § Frefafga § o fF @i/ afaem F &g 3 = as@ w0 q9rE ge e

(1) 7= 32 (2) R aiwa g
(3) 3Tt ataem (4) el afaem
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